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	Logic Gates
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	Boolean Algebra Properties
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	555-Timer
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Charge Cycle: 
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Off Time: 
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Frequency: 
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Period: 
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Duty Cycle (percentage): 
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	J-K flip-flop
	4-bit Counter
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	Inverting Comparator
	Schmitt Trigger
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	Transistor as a switch

	       Transistor circuit
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	      Transistor model
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	if (Vi-VE) < 0.7

 * transistor is off

 * switch is open

 * IC = 0 mA

 * VC = VCC
if (Vi-VE) > 0.7

 * transistor is on

 * switch is closed

 * IC >> IB

 * (VB–VE) = 0.7

 * VR1 = (Vi – (0.7+VE))
 * VC = VE









































_1174031788

_1174031907

_1174068133.unknown

_1174635171.unknown

_1237639695

_1237732500.unknown

_1174635335.unknown

_1174284686.unknown

_1174635116.unknown

_1174284675.unknown

_1174032204

_1174034300

_1174034373

_1174032237

_1174032307

_1174032099

_1174032160

_1174032078

_1174031854

_1174031882

_1174031822

_1112803921.unknown

_1174031514.unknown

_1174031548.unknown

_1174031749

_1174031563.unknown

_1174031532.unknown

_1174027078.unknown

_1174028059.unknown

_1174031339.unknown

_1174027194.unknown

_1173991255.unknown

_1174026937.unknown

_1112803940.unknown

_1112706684.unknown

_1112707069.unknown

_1112803662.unknown

_1112707058.unknown

_1112706678.unknown

